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Example (p.61): Hint
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Example (p.61): Solutions

0 1 0 0 5 0
0 1 0

0 0 1 1 0 0
0 0 1

1 0 0 0 1 5
1 0 0

0 0 0 1 1 1

v

v w v w v

v

T T 

     
                                     

     

i i j k

j i j k

k i j k

 
 

1 1 1

3 3 3
1 1 2

1 1 23 3 3
1 1 2 6 6 6
3 3 3

1 1

2 2

1 1
0 0

2 20
1 1 2

00
6 6 6

0
1 1 1

00 0 0 1
3 3 3

0 0 0 1

v

p p v v

v

p p v v

v v v

v v v

v v v
w v

v v v

T 

  

   
     

    

    

  
    
               
  
  

 

k i j k

i j ku u k k
j i j k

u u k k i j k

i j k i j

i i j i k i

i j j j k j

i k j k k k

0

0 5 6
0 5 63 screen coordinate: 0,
5 35 3
1 3

1

w vT 

 
                            


